UG IWR) =Y

o N7 N 127 LS [P L O By—b Eal] EA4R IR B | e | ™ i cy—s B TR =E B | || g
i i =] o yOlEsasEso[EsOi#s0 B
11-9] 4 A 5|16 | 1 0 |-18]| 4
5 17| 1 EARR 512 2 5016 | 1
4012 AR 2 |-12| 3 46| 2
2| -2/ 3 2X 0 |-16] 4 3| -4 3
Dy—45 wx fa g B | || g BJ—5 i i & L P i Fy—5 L i ks O lw| ™|
Eroigsn|EsniFEsoELOE 0 EHOi#SO e Eroigsn|EsniFEsoELOE O EHOi#SO e FoougEsnlFsoigsalFsoigEsalFsoiEso) il
eSS i 6 |27 1 P ml 42t 1
1H nist 4012 Pk 2|22
fngE i 2| -2| 3 M o |-19] 3
THE ZE Rk 0 |-26| 4
£FY— Ry (134
ING 37 1
ER 4 2
=4 -24 5
HEE —12 4
iz -5 3




